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M&ﬁ‘f*"jﬁ“ @“"j Jm"t An electron 1s accelerated from rest
d_. b -0 13 - ‘UA mo close to the negative plate to deliver to
d{ﬂ O ‘ : ‘-‘“3":1 Cfﬂ % : the positive plate, if the electric
u.eaﬂi O b “4-‘3 potential difference between the two
T -(1__20;?5 ‘-”3"*{:?&1 parallel plates is (120V). What is the
5yl 4 J:_J‘ ‘L‘" maximum Kinetic energy of the
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According to the figure, what is the

daad) Lo ¢ JSEL 1G8 equivalent capacitance
By A O Addlal) ?between A and B

30 uF
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According to the figure of parallel

= O 515 H E ate capacitor, 1f (A=0.02m*) an
) e ey Plate capacitor if (A=0.02m?) and
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According to the figure, if

Q=-2unC) and (q = +2nC), what is the)
?(electric field at the point P(0,0
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A Jsad (2 cliadd) oA 7] Which of the charges in the
aallu (Cliad) dda ?igure is (are) negative
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diaall b X Jiad Iika What does X represent
a ' - _ 2kx
Johll Algy Al (Ey _ ¥) in the formula (Ey = )

gl 5125 (b Las of an infinitely long wire
i and what is its unit?

linear charge density

surface charge density
sl A3l 43S C/m2

volume charge density
Lﬂ.a;a.“ 450 4AlS C/mg

infinity charge density
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790 (398 gal) x oladily LG8} ¢y g <)) Ma) A SN j¢d3 L& As shown in the figure an electron is fired horizontally
ol L, 3 £ ) . L towards the positive x direction over a horizontally
(+3.0x10 C / m?) daadac, diad 48US, Lad) oy eadia aga  oriented charged conducting plate with a surface charge

dblusa pdaly ¢ 2 (0.50m) A g‘“‘iﬁ il adY) (i 9Ss Guay  density of (+3.0. x 10-15C/m?). ;f the vertical deﬂecfinn
(2.0cm) iay of the electron is (0.5cm) after it has traveled a horizontal

) distance of (2.0 cm).
faddlh) vic 9 AN de pwla What is the velocity of the electron when is fired?

(Neglect Earth gravity)
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1.6 X10°m/s
d

1.3X10°m/s
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Adslaall Al 48 2l O G 5
lgdll 3 s V(X,V,2)= 3x-6y+2Z  Suppose an electric potential has the equation

Sia g wabeaall Ll g8 Jaal) akate V(X ¥, 2) =3x- 6y + 22 in volts. What is
il ~ the magnitude of associated electric field,
P(0,0,0) Anidl e e SO Sl g _ in units of volts per meter at P(0,0,0)?
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. * According to the figure, a cube that has
J 2 (5.0cm) Al (5.0cm) side length in a uniform electric

(A field (E=200N/C), that is perpendicular to
ulaia (E=200N/C) pkiia the plane of one face of the cube. What Is
Lo casall 4 g) da) g g 2a the magnitude of electric flux passing
TR I PR VX | Ry C R R K ?through the black face
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How many electrons does it -

a oM i 5 ST aae oS take to make (-2.00 C) of
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b S 5Bl )aha Le What is the magnitude of the electric

a8 5 AUl 5 SN e flux through the sphere shown in the
..o o figure that contains an electron and tow
oSl o S o ?protons
T gig P
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:iuul_ifj i Iﬁ Which of the following are materials
- 3 .
CAL 1<) dulin ool that have zero resistance to the

?conduction of electricity

.d
Insqlators
JJ) g2l
b
Semiconductors
S la gall oludi)
.C
Conductors
COla gall
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Superconductors
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L3S0l ag2l Lo »

Ay e What is the electric potential at
Lad ¢ (30.0cm) (30.0cm) away from a point charge of
dlas: 2((18.0uC
°(18.0nC) Ll
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43Ual) j)aial Eiasy |ila

(a pUBH Al 44 <l) Adalsl What happens to the magnitude of
JE Ladie (yibads O electric potential energy of a system of
Tlagin 4alucall two point charges when the distance

?between them decreases

Becomes zero

\JLAM

Remains the same
LS A

Decreases

Ja,
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Increases

L
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@C\J\ | J‘-FJ‘ O (53 Which of the following statements is
€A s ?correct

P

.Equipotential lines and planes are always at the opposite direction of the electric field

2L Jlaall (uslaall b@ﬁéﬁﬂ\d&ﬂ Agall QJM&WJLJ.E&

.Equipotential lines and planes are always at the same direction of the electric field

Sl Jlaal) slat) (pudi A Laila (685 agal) (5 gluds il giea g Ja ghad

.Equipotential lines and planes are always parallel to the direction of the electric field

il ) Janall ooty ) ga Laila 3585 dgad) (5 sbod il giana g 1 ghad

.Equipotential lines and planes are always perpendicular to the direction of the electric field
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According to the figure, a parallel
plate capacitor in vacuum consisting
of two conducting plates, each having
area A and opposite charges,
separated by a distance d. If the plates
are moved closer together, what
happens to the magnitude of electric
field between the plates and the fringe

T() kY ?field
The electric field between the plates | The fringe field
on ol s s Sl Jial LY v Jlad
1ncreases Increases
A2 3 ala 3
The electric field between the plates | The fring; field
T PP PRVEN [ PO VAN PO
reduces reduces
The electric field between the plates | The fringe field
O sl o Sl S Jlad) il Y aie Jlall
reduces remains the same
Ji, s LS Ay
The electric field between the plates | The fringe field :
cn sl G e Jla iRy 2ie Jad ;
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Which of the following symbols represents
?(alternating current) power source AC
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L 45-:’3-“ ‘iéJ According to the figure, what
4lasall 5 48ll I3 j5 the magnitude of net force

?qlulﬁ 5y ‘gall 2011 (1
a2 0.15m a 0.15m -
-4.0 uC +3.0 uC ~4.0 uC
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Which of the following i1s not correct
?for the energy stored in capacitors
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Gadd) Jeddl) rua g The figure shows

ddas) g
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Triboelectric
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